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e 1L BREFR NE EitR=s B mE
1 B s 4 M4 GH-60E DD-M-187
2 B RS IR B R GH-6062B DD-M-228
3 BEF g IC1826 DD-M-006
4 BT K EX225DZH DD-M-026
5 B8R EE R E &4 RG-AWS9 DD-M-106
Z. BRDRE . SRR
FEanRR | R e & 7 i R
AR | HI836-2017 [ i5 ik S (IR EBRAI AN B 1.0 mg/m>
“HbER | HY57-2017 [EEISRIEES ZEUCEREORIE 1 i e Rk 3 mg/m?
GE A s HJ 693-2014 FEis RS AALDHIN NO23 mg/m?
. JE BT FRL AR NO:3 mg/m?
. HJ 544-2016 [H & {5385 S BRS8N E
MR % T%?%i%%_h o 0.2 mg/m?
=, RWER
AR LR X B ER IR S HES 1S KA HIM 2025.4.25
KA AL AbFR G fa
Bk (KPa) -0.01 -0.02 -0.02 /
A\ CC) 41.8 4222 38.7 /
E (m/s) 2.1% 2.12 2.51 /
BE (%) 4.24 3.78 3.67 /
HE5E (%) 12.5 12.3 12.7 /
FrRT-iE (Nm¥/h) 7266 7182 8604
PS5 . : P
T 25040261 25040262 25040263
IR E (mg/m®) 2.0 1.9 1.6 1.8
AR E (kg/h) 0.015 0.014 0.014 0.014
—g | FRE (mg/m®) ND ND ND ND
B | e (kgh) / / / /
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ma | FIRE (mg/m?®) 6 14 14 11
| syt (kg/h) 0.044 0.101 0.120 0.088
Bt (KPa) -0.02 0 0 /
MR CCH 36.4 36.0 35.2 /
iE (m/s) 2.26 2.25 242 /
BE (%) 1.8 3.8 3.6 /
fAE58 (%) 12.5 13.1 13.0 /
FiE (Nm¥h) 7795 7770 8396
Ko kel QDD250425001 | QDD250425002 | QDD250425003 A
TR E (mg/m®) 4.69 4.25 4.30 4.41
Mm%
HERMUEE (kg/h) 0.037 0.033 0.036 0.035
i RS, 45K EER: BEMHRE,
AL GBS E: 2300 ¥t PEEEE: 3.75th.
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